Final Review Part 2
CH 7— Probability Name: Period:

. If you flip a coin tW|ce and then roll a die, how many possible outcomes are there?
2 HT 61235 126+ Y ouTamEs
2. Ifyou f||p a coin five times in a row, how many p033|b|e outcomes W||l fﬁere be?

722022 = 32 oulcames

3. A die is tossed. What is the probability of tossing a 2 given that the number tossed was an even

number? P(z‘g\;e;\)) ,_:,L_
RN LiJ 2 (1,226 (1Y) 559 66)

4, Two dlce are roIIed What is the probability of both of the dice being the same number’?
2o TG prsnigiumies ON BAGH G4 = 36 REs(ate OVIComEs

P(DUUGL&)' £ - g&i}t 20

5. If you toss a pair of dice, what is the pro ity that the sum of the two numbers will be more than 9?7

(he) (5,5)65,¢)(6,6) B 1
(& (@Y P(>9)= 3¢ =| jj

@

6. If the probability of an event is @'_BLwhat is the probability that this event won't occur?
1 — \_. - -—’”‘-i = IFAVOﬂRB&
€ € _ ToTAL
7. lf the probablhty of an event occurring is 1/8, what are the od_qithat it won't happen?
ODOS T A 107 00 To NST NAPPER \Z/lj
fav. 3UNFY-
8. If the odds of an event are 9. 20 find the probability the event occurs.

ToTAL=T+20= 29
P(e) / 1

A bag containg 30 marbles with 3 white, 15 blue and 12 green ones.
9. If you reach into the bag and draw out marbles one at a time until you have three in your hand, what is

the probability that they are all blue'? (WJTHOUT REPLA('NWLf

( MJ( ) (35_““) i /_'lLa

If you reach into the bag and draw out one marble at a time and record the color before replacing it
to draw the next marble. What is the pr |||ty that they are all blue if you draw three marbles?

RN O

10.




Seventy students were asked if they enjoyed watching soccer

on TV. Use the table to find the probabilities below: (Give Enjoy | Do Not 4Enjoy Total
answers as exact fractions — then convert to a percent and Male 24 1 38
round each percentage to the tenths place. Give odds in Female | 22 10 32
reduced ratio form.) Total 46 24 70
2, S e
11. P(do not enjoy) = [?H 3/} 12. P(female and enjoy) = 2z = lL ‘—“ 3i ‘H%I
L 1 70 38 1" 7
13. P(enjoy | female) = ,_i . “ :{ 6‘8,% VA 14. Odds in favor that they enjoy watching soccer
+ 32 Faven: onfaon. 46124
GWVen TugT *~ComdmonAL PROBARILTY (Chawees Total) (237 !/_B

15. A Social Security number is a code made up of 3 digits - 2 digits - 4 digits.
a. How many different social security numbers would be posmble if any number can be used with

repetition? iO (01010 40 TRy (D {O - '0
ooqoooooo | 1 Bituon
e it AR

b. If repetition of numbers were not permitted in somal‘ecunty numbers, how many different
numbers would be possible? , -
0:9.57-6:5 422 = 3628500
10!
c. The first three digits are assigned based on what state you live in when applying to get your card,

so you do not really get a choice on the first three digits. What if the next digit could not be a
zero, and no repetiti rs is all wed how many different social security numbers would

be possibjé? XXX §29-8-7-¢. 5 Li‘iﬂ@ flagt 9 (5 fwr 1-9

( A G (¢ for 0+ 8 05 TR -G
VAGUE = ' APR(Y )0 1T To THE LAST 6 Numeers oni¥)
16. In how many ways can you arrange the batting order for nine baseball players out of 15 players?

_ sl S
WANEW, IS W _ T LBAS, ¢ op6
(IS0 9! Gsuzzi- P
17. A combimatlon bicycle lock is made from one letter followed by three numbers and then o ter.

Find the number of possible codes if the letters used are A-F and the nhumbers used are 1-6. All
numbers and letters may be repeated € (e

G-Ebt €
4121@

18. It is estimated that two out of 12 students drop a class during a semester. What are the odds that you
willdropaclass? Z_ _ {_ FJN i I “ 5 \

"

fAV. * UNfiv.

19. $100, $50, $20, and $5 prizes are to be awarded to four dlfferent people. If ten people are being
considered for the prlzes how many different arrangeme"Ts are possible? .
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20. A bag contains four fed balls, seven white balls and eight blue balls. If three balls are selected at
random, with replacement, find the probablllty that they are all red.

() <l
19 (q 6559

. 21. At a car rental agency, the agent has 10 identical midsized cars on his lot and six people have
- reserved midsized cars In how many different ways can the six cars to be used be selected?

¢, = fob _ ol IFBTE 1537 [0
076 (o-efiel Ylet WAZT )Lt 07 L’E*\

Review CH 8 — Statistics

Z(x__;)l Z:x-»;
1. Find the standard deviation for the data: 7, 2, 9, 3, 10, 6 i n—1 )
Y - 1xarGe3+ote 37
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Tomss 0,000 50,833

2. The scores from all of the statistics test were normally distributed with a mean of 76 and a standard
deviation of 8. 2= X~-X S

X
S S S6— 16 0 n
a) What would your z-score be Z= __Z(_. -t L— = %— = (25 \
if you scored an 86 on the test? g €
o P —~ID,-§Z| 25 |
b) What would your z-score be 2= _éé—léf < ‘{‘—7 -y !
if you scored a 66 on the test? 1Y
¢) What would your test score be g > J ﬂ_‘j____, — 2*
if you had a z-score of 2.17 228 ¢ X

Q) What would your test score be ( [ %\‘(x -76) ¥ —12}46-—'—'—)5(—7é m

if you had a z-score of -1.8?

3. Find the 7 missing numbers that have: Mean = 100, Median = 100, Mode = 50 and Range = 150
Support your work by showing how your numbers meet the criteria.

mean= 00 33 e 50 So 50 Jop 125 125 200
— L2 =
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